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curl measures
"rotational force" of a v.

fell.
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no t
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a s above.

dir = a x i s of roth

magnitude = "how 'spinny' i t is".



1h21 : E-= L Plan, Q b a y ) )

Carl IE)-(Qx-Py) R

←
al l funcs of bag,Z )

1h31 I = LP, Q , R )
F- L%× ,og,doe).

T T ICurl (E) = EXE = § dog
%
z)P Q R



EI ① E-LI, &
Curle) = (O-1) k = - I

=L o , o,-1) .

Something t o ho le ! E i s not path-
Independent.



② E - Ly-y, y-127, × 2 >

E ⑤ a

R

% 89
¥/=I/Ry-
Az)

cureetlpa I
a
pla,-Pz)

Ry=O Rx=2× + R/Q×-Py)
9

Q z = 2 P E 00*0, Py= - I



CurlCFI = It-21-Jfk) t k 11)-42,1¥ I 8

±÷÷÷÷÷÷÷÷÷.÷
÷÷÷i÷

defied
o n a closed, simply

connected
reg i on



Closed

=@
simple connected

=
connected

and

"no holes".

D O not
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away. Curl (E) =8⇐7 ¥ I s p. I .

ICarllest
F sca la r function f

I f Curll E) ¥ 8
such that

f u n ¥ i s not P I . F f - F ①



¥ Use cur l test to
determine i f
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find a f s t E f - E

① Compute curl:p j ,
dx=¥
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Curl E) = E s o by the theorem, w e

must have tht # i s P. I t f

② want t o find
a potential function flame) s t

f t E. F - ( g z , Xt, y × >

guess? flay,H=? f×= Y Z ,fy=§flagitkx-EglyizL
f z = Y X ←

I look@y-partial demo.



X z = x z t gyly,Z) ⇒ gyly,2 - 1 = 0 for all

Y,Z .n F F
want

guess
gives m e .

⇒ g
does not depend o n y .

⇒ glyzz) = ht t ) some fun the

Newguessi
f-Hiya)-xyz-1 htt)

-

fz= ay = xyth' Iz) ⇒ h 'Iz) = O for a l l 2 -

⇒ N z ) - C



Find So in : flag,z)= Xyz-1 C sone Conskal #C .

Whl fp.DE = f l i n t - 4090)
C = I - O = 1

C I s any pith fan 1990) t o 11,1, D



Method for Computin
g Inc integrals i n general:

Given: ¥ ava ta r field

0 : a n oriental c u r v e .

① Determine i f F i s P. I . o r n o t .

(use q t o r o i rous t . )

§Edi' = 0 for all closed D ?



②AO i f I b P I , find a ponlential fire.

f s t . Ff-FI.
↳ u s e F TC fo r L I s to compute

{E-di's Jeff-DE FIB)-FIA).

⑤ I f F I s no t P I , u s e a parameterization

Flt) for C to compute the L I .


